8]
- SRqEr
o £Qr) "
(@) G w Rwfr R
(i) 9T 9 s wxe
(i) Swufe emE
Write notes on the following :
(i)  Secondary structure of Protein
(i) Zwitter ion :
(@ freR-gveia deemor &1 aofF B |

Describe Fischer-Indole synthesis.
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B. Sc./B. Sc. B. Ed. (Part II)
EXAMINATION, 2020
" CHEMISTRY
Paper Second
{Organic Chémistry)
Time : Three Hours"
Maximum Marks : 33

e : Wi U g & SR RN TRT 6 ¥ B wE
& A 2 '

Attempt all the five questions. One question from each
Unit is compulsory.

THIE—1
. (UNIT—1) ]
1. (@) T e 8 W 3
() &R @ SURART F W @ AT FEReHE 9

g B

(i) ¥R HCI ¥ fhar ovar &

(i) PHfd @9 o AT ER @ soReRy §
wrifecerge 9 frar @t &
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[3] uu—uun

Explain the reaction of ether with concentrated

[2] ' DD-2706 H,S0,.
What happens when : (@ fPawe B sfete e $ ATy z."r# el
(i) Phenol reacts with chloroform in presence of . ‘ aitwferar ﬁ-ﬂ@'ﬁ{l o o 19
alkali. Write down the reaction of glycerol with oxalic acid.
(ii) Ether reacts with HCL. | - 2 -
(iii) Phenol reacts with formaldehyde in presence (UNIT—2)
of dilute acid or alkali.
(@) Pt st @ Braff el @ ) " ()mmaﬁm“@“m
; : 3 4
10) S-S afwfssan . (l)
(i) AN WLl : Eﬂ)) HFRY .3“*"%‘"
iii) Yol WEEA
(iii) wIgyH E;THWW
Explain the mechanism of the following reactmns Explain the following reactions with their
(any two) : _ nilechamsrf'n (any tw.a) 3
(i) Riemer-Tiemann reaction (i)  Perkin’s reaction
(i) Gattermann synthesis : ; (ii) Cannizzaro reaction
(iii) Fries rearrangement ‘ (iii) Aldol condensation Sy
aperar (@) wrifceerge, (Rfreeges W Ioiftcers @
on | _ it rarefierar @ wasmey | . 3
(@) Fowta Rrferfed @1 g By g B ? 2 Explain the relative reactivity of formaldehyde,
i) TP : acetaldehyde and benzaldehyde.
1
U
(i) AEEIeaa ,
How will you obtain the following compounds from (Or)
glycerol ? | () ﬁﬁwmi?ﬁmﬁ@mﬁaﬂwt 3
(i) Acrolein B What is benzoin condensation ? Expiam with
|
- mechamsm
(ii) Nitroglycerine
et . :
(@) geR @ W HySO04 B WM B A 5 . o _ (A-64)
AN | _ | ' : o
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(i) sp

- (iii) VTS

[4 . DD-2706
AT S wg: : 3

) YefeEEs SR e & frar e &)

(i) wrsEEs B afifear st § avd o
&

What happens when :

(i) Acetaldehyde reacts with Tollen’s reagent.

(if) Formaldehyde reacts with ammonia .

>C=0 WE H FIET P THeor araven & 1

i) sp

2

(iii) sp?®
(iv) 39 & H‘ﬂﬁ 8!
Hybridisation state of carbon in>C =0 group is :
M sp
(i) sp?
(iii) sp?
(iv) None of these

FIE—3

~ (UNIT—3)

wiled 7RIS § av Praffm a3 v
R ? 3
() TR® TERgEe
(i) IR Tk

(A-64)
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[5] DD-2706
How will you obtain the following from acetyl
chloride ? '
(i) Acetic Anhydride
(ii} Ethyl Acetate
(iii) Acetamide

P sffmal ahgf SRR
COOH ;
R
COOH

(i) CH3COCI + CH;MgBr —
(iii) CH;CONH, —FP%s
(iV) NH2CONH2 +2 HNOZ -

Complete the following reactions :

COOH
| 200°C

COOH
(i) CH;COCI + CH,MgBr —

(®

(iii) - CH;CONH, — 2%,
(iv) NH,CONH, +2HNO, -»
3prar
(Or)
frfafe w® Rufrf Ry : 3

(i) Qe R

(i) SIwAH FEEES ST

(A-64)




16] DD-2706

Write notes on the following :

(i) Bi-uret test '

(i) Hoffman’s Bromamide reaction :

() da-des-sfie i

(i) Ywriew sffmar

Explain the following reactions ~ with  their
mechanism :

(i) Hell-Volhard-Zelinsky reaction

(ii) Reforrriatsky reaction

TIR—4

(UNIT—4)
Prerfeae affrarel ¥ 3 wfie IF 9 o
ot ? 3
G) e Aergs sl
(i) . BfEaa Al

How will you obtain primary amine from the
‘following reactions ? : :
(i) Gabriel’s phthalimide reaction

(ii) Curtius reaction

ﬁ'ﬁmﬁ R ﬁ"-‘qﬁﬁ forfag - 4
(i) TEEEGHA B AGATT

(i) fwRe s

Write notes on the following :

(i) Reducﬁon of nitrobenzene

(i) Picric acid

(A-64)
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3perar
(%)

(@) @sﬁaﬁmm%?mmﬁmm@

f5q yeR e frar W & ? 3

Define diazotization. How is benzene diazonium
chloride prepared ?

VST T B GHEEY ] g
Explain Azo coupling.
ufrei, Ufte oni & oW AT B @) ? 1

Aniline is less alkaline than ethyl amine. Why ?

TIE—5
(UNIT—S5)
frforRaa &) w9eEy 3

(@) RS & A onen sagieRe @ U @9
forameiier & |

(ii) Wqéﬂﬁuﬁfwm—zaw—swﬁwé’f
g &1 i ?

(iif) ‘ema’ # IS Wee g |

Explain the following :

(i) Pyridine is less reactive than benzene towards
electrophiles.

(ii) Substitution occurs in furan at position —2 and
5. Why ?

(iii) Give respnating structure of ‘Thiophene’.
faaiiei @ weawor @t wpfg o Ry Twemey) 3

Explain Skraup’s synthesis of quinolene.
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